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Addizione e sottrazione (orizzontal€)

Nome:

Risolvi ogni problema.

ES) 60+ 16= 76

1) 47-20=

2 11+1-=

3 5-1=

4) 565+ 32=

5 120-1=

6) 4+1=

N 7-1=

8 6+1=

9 116-6=

10) 67+7=

1) 25-4=

12) 9+1=

Risposte

Es. 76

10.

11.

12.
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Addizione e sottrazione (orizzontale) Nome: Soluzioni
Risolvi ogni problema. Risposte
Es) =
60 + 16 76 . 76
) 47-20= 27 t 21
2. 12
2 —
) 11+1= 12 3 4
597
3 5.1= 4 *
5, 119
4) 565+32= 597 . 5
7 6
5 120-1= 119
8 7
6) 4+1= 5 9. 110
10, 4
N 7-1= 6
11. 21
8 6+1= 7 12. 10
9 116-6= 110
100 67+7= 74
11) 25-4= 21
12) 9+1= 10
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Addizione e sottrazione (orizzontal€)

Nome:

Risolvi ogni problema.

Risposte

-

4 12 597
27 5 119

=
74 Es. /6

Es) 60+ 16= 76

1) 47-20=

2 11+1=

3 5-1=

4) 565+ 32=

5 120-1=

6) 4+1=

N 7-1=

8 6+1=

9 116-6=

10) 67+ 7=

10.

: Semplificato
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